COLDAR

OUT360R-D AUk (7&)ALIEHSF Oil Level Monitoring

OUT360R
Level Monitoring
Line:~230V,3VA

121411

L-BN
N-BU
1-GY
14-0G
12-PK

$e2k [BTEE Wiring diagram

AC 50/60Hz 230

L | (BN)= 11 |6V
| O
QUT360R
N |(BU)E& 12 | (PK)#3 14 |(0G)E
H1 H2
Alarm OK

Sp2 R<FE 1 Dimension drawingl [mm]

1S FR(Adapter)
- GOA118-26

{Level monitoring)

FZF Application

OUT360R-D &Fih (&) (lEiaiERAT -

fitt = im S AR AR /AR (LI

fites, HRHEEYSMRARALLEER

LA RN AL (RS # TR

OUT360R-D R&EERBMWEA/SM RIS, FIFIEER

B ANHAL FESEPRAYH GRD (L@ SHEEE RIE SR RIRGH
&QIE%E, BEEIEHA R ST RS .

R IREMHERINE, EE%E LED 5.

OUT360R-D1: il (&) HHET MR L&k, TR
B LED m5%, HERY 10 #+2 7, 4kea [T EEPLRE LED IK;
LBk E R (.%:FEP'L\Z)%) B LED kTIRIR, YRFBIERT 3S
FRRRE, HEELED R=%.

OUT360R-D2: il (&) s T milEm L&k, TR
& LED m5%, HERY 10 #+2 7, 4kea 2T EEP4R & LED IK;
SHUmER (RTHLL) , BE LED ATIRR, 4EiiERT 3S
FRRRE, HEELED R%.

OUT360R-D is intended for systems requiring oil level
monitoring and alarm, mainly used for Oil separator, reservoir,
and Drain tank, etc.. .

OUT360R-D1 uses a Hall-Sensor to measure the oil level.
Unaffected from foaming oil or light a magnetic float changes its
position according to the oil level. The hall sensor converts
these magnetic field changes into an equivalent signal, which is
used by the integrated electronic controller to monitor the actual
oil level by LEDs. If the il level drops into the yellow zone and
after a delay time of 10s, OUT360R-D1 generates an alarm
signal, the alarm contact (SPDT) changes into alarm state and
the green Led OFF. If the oil level comes back to normal, the
Alarm will be reset.

OUT360R-D2 mainly used for high oil level monitoring.

ERKTRPI Sight-Glass Level Control Zones

LEDs Status Alarm

Qil level above 50% relay ON

50% —
Yes delay

10 secs
Qil level below 45% relay OFF | Alarm

Oil level below 45% relay ON

OUT360R-D1

50% — ————————— ]

LEDs Status Alarm

Qil level above 55% relay OFF | Alarm

Yes delay

® Qil level above 55% relay ON 10 5805

® Oil level below 50% relay ON

OUT360R-D2

Shanghai Goldair Electric System Co.,LTD Tel:+86 21 67697100 Fax:+86 21 67697007 E-mail: sales@goldair.com.cnHome: www.goldair.com.cn



mailto:sales@goldair.com.cn
http://www.goldair.com.cn/

HARE% Technical Data

COLDAR

B & Supply voltage

AC 50/60Hz 230V+15%_ -20% 3VA

IMRMEFRE

Ambient/Storage temperature

-30..+70°C

SREE Humidity

10 95%, Jt#%tE No condensation

N R&ESEE Medium High temperature

Max.+100°C, Max.+120°C(<720h)

N RRIKEE Medium Low temperature

Min.-30°C(F AR AJ K HAZE TR no frost for a long time on the shell) 1*

IREEFERT Alarm delay

10s+2s

T 44K & 71 Working/Test pressure

60bar/69bar

1 H 4k E8 82 Relay contact (SPDT)

AC15: 2.5A,250VAC
DC12: 5A,24VDC

ZEFEE S Connection type

51 AWG204#E B 4mEE  L=2 3K
Cable 5xAWG20, L=2m, colure coded

1R3PZF 2R Protection class (EN 60529)

IP65

##l Materials

t84 4% Aluminum; PA6/PA66+GF

ST R Permitted oils

FOER IRESH, &M% Standard mineral and ester oil,without
additive

#5459 R Medium compatibility

HFC,HCFC,CO2 (Llg%& Subcritical)

ZEAIE Mounting position

Kk FZ % +1° Horizontal, +/- 1°

=2 Weight #11kg (& GOA118 EfcsE)
1J#%5 Order No.
OUT360R-D1 22G15 360R D1
OUT360R-D2 22G15 360R D2

7EfZ *1: OUT360R BIZZAARKES, AIAZHINERLSE, (BRRIE IP65 FFiFF%K. OUT360R electric control box has a
waterproof potting seal, which can withstand short-term frost and dew, but only for IP65.

SMER~TE 2 (3L OUT168 #{u &1L ) Dimension drawing 2 (with OUT168)

| 38 25 36
LB
sk " Upper valve cap
Magnet®,
N\

P TR

Lower valve cap

_3-Mexaoihite
.~ 3-M6x40 Bolt

141/4"- 12 UNE-?B

/ \
B (Adapter),/  OUTA68H&{iIE128iE
GOA114-38 Cut-off valve

\\EEB GiR) 553088
Level moniyoring
MEx40IEIEFT ' E0HE: 10N.M

M@ Bolt tightening torque:10N.M

/O MEERAZEFDHE: 156NM
Valve cap tightening torque:15N.M

Shanghai Goldair Electric System Co.,LTD Tel:+86 21 67697100 Fax:+86 21 67697007

E-mail: sales@goldair.com.cnHome: www.goldair.com.cn



mailto:sales@goldair.com.cn
http://www.goldair.com.cn/

EACBE 51 B Adapter Selection

COLDAR

K% OUT168 % F ouTi68
S B2EE (YD BEEE(Y2)
o L X S E) 12 S E) 12 .
RS Type BXZ5HA% Description JﬁEﬁEﬁ%(() ) Height Height #7E Note
9 (Y1)-without (Y2)-With
OUT168 OUT168
., , SMNERTE 1
GOAl1g-26 | LL/8-18UNEF-2A SMELL 26 62 87 Dimension
Screw adapter1-1/8"-18UNEF-2A .
drawingl
1-1/4"-12 UNF-2B Heis 4 5 i mtiEk SMRLRTIE 2
GOA114-38 . 38 74 99 Dimension
Rotalock adapter 1-1/4”-12 UNF-2B drawing 2

1-3/47-12 UNF-2B Hegs i & B sk
GOA134-42 42 78 103
Rotalock adapter 1-3/4”-12 UNF-2B

3/4"-14NPTF [E$E5MNENRLT

GOA34-46 30 66 91
Screw adapter3/4"-14NPTF

GOA24M-26 | M24x1 SMESL Screw adapter M24x1 26 62 87

GOAL18CSH | TAH 1/8"™-18UNEF-2A HMREL 96 132 157
Screw adapterl-1/8"-18UNEF-2A (Lengthen)

GOA34F 3-14 FL3E= Flange adapter 3-/4-hole 45 81 106

OUT168 fR{L# LM Cut-off valve (Optional)

OUT168 iR & LE BA TSR 5 EAEA A . R MRS EERE), ERETERTLUKHRAELER, XHhA SR
RRIEITHIE R, MAREXNEEINFREMERT .

1. $BUERLRRRE: MAMER EN=5 M6 R ARiE, EERFE=FLRINRNEEHE:, BHAERME (BHRREZEE)
MERRIT R E MR L, WRED, HERNEE 75N.M; ARITB=FLRIRAEROXNE OUT168 iR AELLRE BAIFRIZL, ELE=M
M6 124, BRBHIERIFEZKEME (REELD) , KEETBELC, RZRrE CEEEELH O BERERIM .

2\ FEZERRTAEE HE BR R R KA, BEiEH OUT168 T ZkT+1°, HIBNEAL, 1TRIEL.

3. OUT168 iRfALLMRL FIAT R, HFER, SIRTEE, B8 2 MUERESINE$Hr R ZEXH, FTLUEHAERSERT
g, ERREEEFHAENRGE, B 2 MULRRT SR e 4 BAAEIEBE 5 B) Zx2TRES, REERBEET
FREKAEH.

OUT168 Cut-off valve is utilized as oil circuit blockage, and installed between oil level regulator and adapter, which could be switched
off when maintenance needs and replacement of oil level regulator. And it is not necessary to drain the oil within the compressor.

1. Install OUT168 Cut-off valve horizontally, and valve cap on the left, tighten bolts.

2. OUT168 cut-off valve is defaulted as open status when out factory.

3. When it needs technique maintenance, Firstly, remove the valve cap, and then tighten the upper and lower valve spool clockwise
until completely close, and then remove oil level monitor to maintenance, keep oil level monitor in place after maintenance, then turn
the spool of the two stop valves anticlockwise about 4 rounds (not exceeding 5 rounds)to the completely open status. Ultimately,
tighten the valve cap completely again to a permanent seal.

X 1EHEEE Caution

1LERAER: THRTIRERMEBMRIEYE, MREMIEE T FREGMRERMINEREER.

Application notes: Periodically check the flexibility of the magnetic float to follow the oil level, If the magnetic float is adsorbed by black
grease, please clean it in time.

2. FEHREREMAIME T LY ~RAR0R, 535 E GOLDAIR ARIHITRIEHEE R, RENIRIZBARAE, REAEMA
18 MA. GOLDAIR F&IBRIE~MAIKEIESE, FAEBRMPEMZ~RIMMAEHASRE FLSFEMERR. B2, 8
SAR9. SEPREY. FUSTAY. ESTHEAY. MIMMSRKAMIEIIRE, HERATRNLER, ERIX=RTEERSHNEARESRE, B
£ GOLDAIR B &M RER K E UL AIRE .

If any product quality issues are found under the premise of correct installation and use, please send them back to GOLDAIR for
warranty or replacement. The warranty period is as agreed in the contract, and if there is no agreement, it is 18 months.

GOLDAIR shall not be liable for the round-trip shipping costs of the warranty product or for any incidental losses to property or

personnel that may arise from the use of the product.

Shanghai Goldair Electric System Co.,LTD Tel:+86 21 67697100 Fax:+86 21 67697007 E-mail: sales@goldair.com.cnHome: www.goldair.com.cn



mailto:sales@goldair.com.cn
http://www.goldair.com.cn/

